
Fertility Treatment Example 

(Using the example field conditions sheet at end) 

Example 1:  We have a Land Class 1 or 2 (Corn) 

Manure: Mark YES (as Manure is available and Nitrogen & Phosphorus are both needed & not 
over applied ) 

Nitrogen: 25# in soil + 95# in manure = 120# (crop needs 145#):  Mark YES (needs 25# 
Nitrogen added) 

Phosphorus: 10# in soil + 50# in manure = 60# (crop needs 65#):  Mark YES (needs 5# 
Phosphorus added) 

Potassium: 310# in soil + 10# in manure = 320# (crop needs 180#):  Mark NO (does not need 
Potassium added) 

 

  

  

Example 2:  We have a Land Class 3 or 4 (Spring Wheat) 

Manure: Mark NO (as Manure is available, but Phosphorus cannot be over applied with 10# in 
soil + 50# in manure = 60# & crop only needs 25#) 

Nitrogen:  25# in soil (crop needs 120#):  Mark YES (needs 95# Nitrogen added) 

Phosphorus: 10# in soil (crop needs 25#):  Mark YES (needs 15# Phosphorus added) 

Potassium: 310# in soil (crop needs 75#):  Mark NO (does not need Potassium added) 

 

  



Example 3:  We have a Land Class 6 or 7 (Grass) 

Manure: Mark NO (as Manure is available, but Nitrogen cannot be over applied with 25# in soil 
+ 95# in manure = 120# & grass only needs 25# & Phosphorus cannot be over applied with 10# 
in soil + 50# in manure = 60# & grass only needs 35#) 

Nitrogen:  25# in soil (grass needs 25#):  Mark NO (does not need Nitrogen added) 

Phosphorus: 10# in soil (grass needs 35#):  Mark YES (needs 25# Phosphorus added) 

Potassium: 310# in soil (grass needs 140#):  Mark NO (does not need Potassium added) 

 

  

  

  



 

 


